Friday 19" June Y4 Maths

In Maths today, | would like you to complete this arithmetic test. (Reasoning test on Monday). There are 35 questions
and you can take as long as you like to answer them but could you please let me know how many you manage in 40
minutes. It would also be really helpful if you could let me know which questions you found the most tricky.

Do your best and don’t worry if you can’t answer some of the later questions.

Good luck. (The answers are at the end — no peeping!)

7 x 10 =

74 + 8 =

1 mark




86 — 40 = of 42 =

=

54 + 28 = +3 =
836 + 100 + 100 = 9x3=







) 534-72=

“h| 1436 - 1000 = el 004 x 100







Cuestion

27 6318 + 3425 =

31 13.58 + 11.17 =

Cestion

sle)| 6327 — 4653 =

534 x 8 =




34 1000 x 10 =
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Answers
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